1500

1500 HEEL TO HEEL ON FACE +/- 1.5mm

1100

TOP OF LEG STUBS TO BE LEVEL

WITHIN +/- 1.5mm OF ONE ANOTHER.

:LA 50 x 50 x 4 RSA MK GB 4

¢ 57| 2mi6x35

M B
2M16x 35112 ®

j?:mxwm

T~

o]

- >
/ ® ® \
A - o A
TOP SURFACE OF CONCRETE TO BE LAID TO FALL
o 2M12 x 30 BOLTS FOR
S . —
¥ EARTH CLEAT MKGBEC.—_| -
oozommwmw\nﬂ LEG L 60x60x8RSAMKGB2 | T
2m16x40 |[o o 4o o0 & o|[2m16x40
U
Q Q
8 |[5l 2M16x35 )
X = X
£ 2 . s
< ~ 0 <
o %) ~ X5 %)
: —2eeRs,, :
= x ///x/ﬂow,w x
< N ~ <
~ N = | N
@ - // -
S = T CLEAT MK GB7 - =
S o N
S = &

T

LEVELLING STUD MK GB8

WASHER PLATE MK GB9

WASHER PLATES MK GB9 TO SIT ON BLINDING AT
FORMATION LEVEL TO ASSISST IN ADJUSTMENT OF

LEVELLING STUDS MK GBS.

ELEVATION - ALL FACES THE SAME

1500

750 750
380 , 740 380
NI M12x 30 60 x 60 x 8 RSA MK GB2 1M12 x 30
7 : T ; -
W R w
A 4 © Q+o) 4 4l
O ]
S - +
=) W =
« (s R
& =4
N 7z
ot o IS
3 o 2, £2)
R [ M s, ©> 1M12x30
1M12 x 30 AAMO
« N
@)
3 KN 3
N <o G}
< X
s \vo\ =
S m AOOA\ m
(€] NS Y % S
x x\¢ x
QA T Ve -+
o ‘s 3
S 2, x
© )
m T N\ s %) 1M12x 30
1M12x 30 o, >
B2 &
* &
< \
I \v% »
™ 7 &,O /
% >
e
T+ s +@o 4 3
L1 & LA
= | | =
7 @ 5 |
1M12x 30 60 x 60 x 8RSA MK GB2 1M12x 30

PLANATA-A

NOTE

EXPOSED STEELWORK TO BE PROTECTED

FROM CONCRETE DURING POUR.

NOTE

REFER TO ARQIVA SITE LAYOUT DRAWINGS
FOR LOCATION AND ORIENTATION DETAILS.

BOLT LIST
M12x 30 16 No
M12x 25 8 No
M16 x 35 32 No
M16 x 40 16 No
M20 x 450 STUDS 4 No

1500

PLAN AT B-B

1500
750 ¢ 750
370.5 , 759 , 370.5
NI M12x25 50 x 50 x 4|RSA MK GB 4 1M12x 25
A 2 Q ]
| & M&#
T+ * o] Q+o, &
© [© °
g W T
™ 07 \v%
& >
Al 2
1M12x 25 A ) 2 [oN
3 1 St Y S o 1M12x 25
Ao
N '
(o)
<~ o3 <
3 NOTE & 2
x ANY CAST IN FEEDER DUCTS o °
= TO ALIGN WITH FEEDER o s
ST DUCT ABOVE. %, - S
[ \q 7 'q
(S N N % ~
> x_ >
8| T L - )
bt R 's]
x o,&\v M
8 8
8 1 @ 1M12x 25
1M12x 25 o §
* 5
© 2y W
N 7 & N
© \N\A.O o+y
I % +° +
— S L4
L & 6 ™
1M12x 25 50x50x4RSAMKGB4 1M12x25

GENERAL NOTES.

1. DO NOT SCALE THIS DRAWING.
2. ALL DIMENSIONS ARE IN mm UNLESS OTHERWISE SPECIFIED

3. THIS DRAWING TO BE READ IN CONJUNCTION WITH DRG
Nos 12599 /L/100 & 103.

STEELWORK:
4) ALL MATERIAL TO BE GRADE S275J0 TO BS EN 10025.
5) THERMAL CUTTING OF HOLES NOT TO BE USED.

6) ALL WELDING TO BE CARRIED OUT IN ACCORDANCE
WITH BS EN1011-2 : 2001 AND BS EN 288 BY AN
APPROVED WELDER CONFORMING TO THE
REQUIREMENTS OF BS EN 287, PART 1

7) HOLES TO BE 1.5mm LARGER THAN BOLTS.

8) ALL STEEL AND BOLTS TO BE HOT DIPPED GALVANISED
TO BS EN ISO 1461

9) ALL BOLTS TO BE GRADE 8.8 IN COMPLIENCE WITH
BS 4190 AND SUPPLIED WITH RECTANGULAR SECTION
SINGLE COIL SPRING WASHERS TO BS 4320 UNLESS
NOTED OTHERWISE.

10) REFER TO MATERIAL LIST 12599/MGB 1 AND BOLT LIST 12599/GB1.

LEG STUB SHORTENED AND
C  25/007/12 MW LEVELLING GUSSET REPOSITIONED Mw

B 20/07/12 MW HOLE FOR EARTH TAPE ADDED TO LEG MW
A | 17007/12 |\MW

INITIAL ISSUE Mw
17/07/12 |MW PRELIMINARY ISSUE Mw
Rev | Date By Chkd|

MW Structures

Telecommunication Design & Management

Tempest Mews, Broughton Hall Business Park, Broughton,
Skipton, North Yorkshire, BD23 3AE

Telephone : +44 (0) 1756 700 942

Project - ARQIVA - GIBRALTAR DTT & DAB TOWER
Title

GENERAL ARRANGEMENT
FOUNDATION GRILLAGE
Scale NTS Drawn by
RC
Date Checked by \\NWQQ\P\A QNO
12.07.12 MDW




